HeT — 10
fawg — TIfr@ o9
Jafer — 3 gve 15 fHe qurfes — 80
1. I B APIR —
.9, LR JHFIR yfererd
1 ikl 20 25.00
2. | oaaEr 16 20.00
REREES 24 30.00
4. | Afamdr 20 25.00
T 80 100 %
2. YT & YHRAR FHIR —
3. ReaT RG] PIGE PESIRCA Retp]
BESES 18 1 22.50 36.00 45
2. | SffTALTRIHD 12 1 15.00 24.00 35
3. | dgRIHD 13 2 3250 26.00 45
4. | STy 04 3 15.00 08.00 35
5. | fyaencs 03 4 15.00 06.00 35
IRT 50 100 100 195
3. fawy o &1 IHFIR —
EsH fawg o SERINEIRIGNG)
1| IRdfae Ty 4 05.00
2 | 9gU% 3 03.75
3 |31 =R ard Wad FHIRor IH 6 07.50
4 | fgema R 4 05.00
5 | giaR ST 5 06.25
6 | Bra 4 05.00
7 | fercderie samfa 6 07.50
8 | Premifatay &1 uRay 8 10.00
9 | Pl & 8 srwam 4 05.00
10 | g 5 06.25
11 | A 6 07.50
12 | gl ¥ HelEd ehe 4 05.00
13 | U &% SR IIRIdH 6 07.50
14 | giRkege! 11 13.75
15 | wRrpar 4 05.00
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HET — 10 fawg —  wIford o9 — 80

% I THR/ U TR M e EREERVE LIS Pieret / Aferaar T
H‘ : %

B IGEEEE E
1 | arafae wen 1(1) 2(1) 1(1) 4(4)
2 | 9gUs 1(1) 2(1) 3(2)
3 | QT =R gl Rad FHIBRT 41 [ 1(1) | 1(D) 6(3)

H

4 %;m i 2(1) 1(1) | 1(1) 4(3)
5 | w\iaR Sidar 3(1) 1(1) [ 1(D) 5(3)
6 | Br 1) [ 11 [2(1) 4(3)
7 | Fdenie smfa 1(1) 2(1) | 3(1) 6(3)
8 | Bty &1 uRe 1(2) 4(1) | 12) 8(5)
9 |Bemffa & B sIwam 1(1) 1(1) | 2(1) 4(3)
10 |3t (1) | 1(1) 3(1) 5(3)
11 | =AY 1(1) 1(1) |22 6(4)
12 | gt 9 e emwa 2(1) 1(1) 1(1) 4(3)
13 | TS ekt 3R 3 12) 2(2) 6(3)
14 | wiRega 12) 2(1) | 3(1) 4(1) [ 11(5)
15 | ifrepar 2(1) 1(1) 1(1) 4(3)
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Genral Instruction to the Examinees :

L

II.

I1I.

IV.

TRl HayRM 31U Yeud R AMid Jifarid: o |
Candidate must write first his/her Roll No. on the question paper compulsorily.

T g3 B ARt & |

All the questions are compulsory.

UAd YT P SR ol T3 STRYRDBT H 8l (o1 |

Write the answer to each question in the given answer book only.

5T U=l H JIRE @WUs 8, I W & IR b ARI & fofd |

For questions having more than one part the answers to those parts are to be
written together in continuity.

U U & (B4l 9 3USH WK H Bl bR &l Ffe /3iaR / faRemrd g
R fo=dl A9 ® Y DI B Hel q |

Ifthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.




Eug—3d
SECTION- A

(i) 12 3R 15 BT 9T 3R HAY FRIT BRI ?

(31) 60 3R 3 (@) 24 3R 6

(|) 12 3R 30 (T) 3 ¥ PIS 8l 1
Find the LCM and HCF of 12 and 15 ?

(a) 60 and 3 (b)24 and 6

(c) 12 and 30 (d) None of'these

(i) 9898 # 3x2 14x 2 YIB! Bl AT A ?

(31) 1 @) 2

@) o (T) 3 ¥ PIS 8l 1
Numbers of zeroes in polynomial 3x2 4 4x — 72 is ?

(a) 1 (b)2

() O (d) None of'these

(iii) 9 fog & fFezn® 8 8 ?

(@) (1,2) @ (1, 1)

®) -1, 1) () (0,0) 1
The Coordinates of origin are ?

(a) (1,2) (b)(1, 1)

(© -1, 1) (d) (0,0)

(iv) I 2x+y =6 BI Al SHDI GIC B alAT H & ?

@) (1,2) CNCRY

®) (2,2) @ 1, 1) 1
Which pair is satisfy the lines equation 2x +y =6 ?

(a) (1,2) b2, 1)

(c) (2,2) (d (1, 1)

(V) THBRUT ax? ybx+c=0 . a=0 P ol dRdfdd &l 8T Al
(@) b>—4ac<0 @) b>-4ac>0

(¥) b>-4ac=0 (@) g | I3 &l 1

2




In which condition the roots are not real in Quadratic equation

ax’+bx+c=0,a#0

(@) b*-4ac<0 () b*—4ac>0

(©) b =4ac=0 (d) None of'these

(vi) TH FARR ST 3, 7, 11, 15 oo @ foTy <ArdereR 81T ?
(&) 1 @) 2

(%) 3 (<) 4

The common difference forand AP. 3,7, 11,15......... will be

(a) 1 (b)2

(c) 3 (d) 4

(vii) 25sin45° cos45° HT A BNIT ?

@ 75 @ 2

(&) 1 (@) o

The value of 2sin 45° cos45° will be ?

(a) % (b)2

() 1 ) 0

(viii) UF g @l foha=l wef v &1 9ol & ?
(o) TP (8) s

@) = GISIGISE

How many tangents can a circle have ?

(a) One (b) Infinite

(c) Three (d) Unknown

(ix) I BT &BS I BRA BT G & ?

) 2 @ T5

&) e (2) g & BIg 8l




Which one of the formula to find area of circle ?

nr’
(a) 2mr (b) ﬁ
©) nr? (d) None of these

(x) IE TP 9 B HAS 11 I TIT SHDT dh T &AHe 968 TP
g dl 9o @l roar g8rfY ?

@1) 10 @) 11 99

(@) 12 9 (@) 14 ¥ 1

Ifa height of a cylinder is 11 cm and its curved surface area is 968 cm?, then the

radies of cylinder will be ?

(a) 10 cm (b)11 cm

(c) 12cm (d) 14cm

(xi) §c9 7,4,5,3,4,3,4, 1,2 I 5D T—

(@) 7 (|) 4

@) 3 @) 2 1
Mode of the distribution 7, 4, 5,3, 4, 3,4, 1, 2 is—

(@ 7 (b) 4

(©) 3 (d)2

(xii) UP U BT UFh R Bl SIIdl & | STT AT BT YT B Dl
TIfrhar E—

@) 5 @ 3

&) o () 1 1

A die is thrown once, then the probability of getting a prime number is—

@ 5 Ok
2 3
(© 0 (d) 1
() 3+245 TP e e €7 (ki /i) 1
3425 08a . number ? (Rational / Irrational)




Allcirclesare .............. (Congruent / Similar)

(iii) tan30° tan60° BT A .......... BT ? 1
Value of tan30” tan 60" is............ ?

(iv) I & wel w1 3R B & d9 BT DI g1 & 2 (YA
I / SfErR PIOT / FHBIO) 1
Angle between a tangent and a radies of circleis ................ (Acute angle /

Obtuse angle /Right angle )

(v) TEd BT BT AR T B BT G x — g7 1

Formule of finding mean of a grouped datais x —

(vi) ToRet STETa =1e & ©H Bl WIfaehar ... BRI 1

The probability of an impossible event is................. :

(i) = =R 9T FHIRI TR 1 7 Afgdd g &l I fafey | 1
Find the condition of unique solution for pair of linear equation in two variables.
(ii) TEEmT BT ax? 4 bx +c=0 P ol T B BT SRR G
forfgy ? 1
Write the Shree Dharacharya formula to find roots of quadratic equation

ax’+bx+¢c=0-

(i) AR 9T 2, 5, 8, 11 oo @ 12 UGT BT AT S BT 7 1
Find the sum of AP.2,5,8, 11........... to (12" term)

(iv) 3T FHSY RISl B qoTRil &7 U 4 : 9 8 dl 91 aMI BrSll &
EFmAl BT U S BT | 1




If ratio of sides of two similar triangles is 4 : 9, the find the ratio of areas of

these two triangles.
sec 40’ sec50°
- Ao ?
9 cosec50° cosecd0® 1 1 WA ' 1

sec 40’ sec50°

_ _
cosec50” cosec40

Find the value of

(vi) 9sec’0—9tan’0 HI A A BRI ? 1
Find the value of 9sec’0—9tan>0

(vii) T® 970 Uh HFR & BRI S $HaE & a6 8T ol 8, ar
ST P17 S DI ? 1

At atime, the shadow of a tower is equal to height of tower. Find the angle of

elevation ?

(viii) <1 TS SMEIT H PIT @ &7 AF A HIFIQ ? 1
C
10m

0 ]
A 1043 m B
Find the value of angle @ in given figure ?
C
10m
6 [
& 10/3m B




(ix) IS U g P Y O & a1l b gt UR PA, PB ¥2f Y@T IRER
80° @ PIVT W bl 8 AT LAOB Pl A S &I ? 1
Iftangent PA and PB from a point P to a circle with centre O are inclined

to each other at the angle of 80°. Then find ~AOB .-

(x) 19 T TR U ERIUS WY 3R §H 2 1 & U H [Irord
DI ? QT AT BT /1Y forT | 1

Draw a line segment of a length 9 cm and divide into the ratio 2 : 1 mesure the

two parts.
(xi) 6 T AT 9161 U I & U HST@US &1 &5hel Hd BIfoTy,
STE®T BT 60° & 7 1

Find the area of a sector of a circle with redius 6 cm, if angle of the sector is
60°.

(xii) TP g H 3 lell, 2 9%& 3R 4 A 18 5| 39 9 H 9 U I
ATGeEAT FIPBIel ST & df S9! a1 Yidar & & Faretl 5 g el
g 7 1

A box contains 3 blue, 2 white and 4 red ball. If a box is draw at random from

box, what is the probability that will be blue ball ?

YUs—d
SECTION-B

Q1 R 616 3R 32 &1 H&wH GHMYddd (HCF) S dIfTg 1 2
Find the HCF of two numbers 616 and 32.

T O 98U S By, s s 4 dar 1 8 ? 2
Find a guadratic polynomial, whose zeroes 4 and 1 ?
feemd FNHT 65> —x—2=0 & I A DI ? 2

Find a roots of guadratic equation gx2 —x -2 =0 ?
fagail (1, —5) IR (—4, 5) BT SIS dlel WRIVS BT —3feT e UT
¥ oISt el 8, 91 Hifoy ? 2




10.

11.

12.

13.

14.

Find the ratio, in which x-axis divides the line segment joining the points (1, -5)
and (-4, 5). 2
fF F 60 m HI FAE R TH 907 3§ I ¥ | 947 H ol SR Rl et w9 9
iy o ek forrg A siter T T 7 1 4fin & w19 SR o1 gohTd 60° T | T8 AR
fF St U IS @1l T8l ©, SR i oTFE J1d whiTerg | 2

A kite is flying at a height of 60 m above the ground. The string attached to the
kite is temporarily tied to a point on the ground. The inclination of the string with
the ground is 60°. Find the length of the string, assuming that there is no slack in

the string,
6.7 T TGS BT U NEIUS Widdy I9BT 2 ¢ 3 F =R [qrei
I ? 2

Draw aline segment of length 6.7 cm and divide it into 2 : 3 internally ?
5 9 9T & U ged WX Ul &1 Rl v Wifey, S IR @ 60°
BT TR DI 8| 2

Draw a pair of tangents to a circle of radius 5 cm, which are inclined to each

other at angle of 60" .
gfe a1 RSl & &ahd aRIER 81 1 (g HIo 6 I Byt wairam
Bl 8 ? 2

Ifthat area of two similar triangles are equal, prove that they are congrunt.

Th TS & e & g3 e a g 14 I 21 39 g8 @ 8RNI 5 e
¥ I &b 9 By ? 2

The length of the minute hand of a clock is 14 cm. Find the area swept by the

minute hand in 5 minutes ?

T 4.2 1 916 G & U el BT [eerax 3oa1 6 94 dled T
Jo & W9 H ST Ol 21 9ol &l $Hdlg Sd BIfoTy ? 2

A metalic sphere of radius 4.2 cm is melted and recast into the shape of a

cylinder of radius 6 cm. Find the height of the cylinder ?
fammeit 5.5ecmx10cmx3.5¢cm dTell Uh O9RT a9 & foTU 1.75 Tl &I
2 THUH HieTs el fhds aidl & fapi &1 fger™T e ? 2

How many silver coins 1.75 cm is diameter and of thickness 2 mm, must be

melted to form a cuboid of dimensions 5.5cmx10cmx3.5¢cm ?




15.

16.

17.

18.

19.

20.

/1 IRSRAT §c9 BT 7RI ST BT ?
X 20 30 40 50 60 70 | 80

f 6 1 7 4 4 2 1

Find the mean of the following frequency distribution ?

X 20 30 40 50 60 70 80

6 11 7 4 4 2 1

a7 RacTel A 3R B 29 &1 tdh g Wald 281 I8 9iid & 6 A& 89
Siid &1 Uifiedr 038 81 B & 89 Siiad & ®&T Uiflfidi &8 7 2

Two Players A and B play a tennis match. It is known that the probability of a

winning the maths is 0.38. What is the probability of B winning the match ?

Yus—Y

SECTION- C
AP 17,1513, % e o< fore ST afer s A 81817 3
How many terms of the A.P. : 17,15, 13,.............. must be taken, so that their
sumis 81?7
g ®ITe {6 g (2, —2) , (—2, 1) A1 (5, 2) T FHBIOT el &
g | 3
Prove that the point (2, -2) , (-2, 1) and (5, 2) are vertices of a right angled
triangle.
fr=tfeRad axfiard sfidel &1 wicud Ay A gRT ARy F1d HIfTQ ?
qf 11—13 [13—15[15—17 [17—19 | 19—21 [21—23|23—25
EIRRSINGII 7 6 9 13 20 5 4 3

Find the mean of the following grouped data using the assumed mean method.

Class 11—13 [13—15|15—17 [17—19 | 19—21 |21—23|23—25

Frequency 7 6 9 13 20 5 4 3

g @Y {6 Bl g & B e & RRE oR i 78 wel v
TR BT 87 3




21.

22.

Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

Yls—q
SECTION- D
=1 Raeh FHIBHROT 7 BT ATeidrd Al §RT 8 BIfSTT ?
2x+y=6; 2x-3y=2

3ferar
=1 IRges FHIEHROT A BT ATelRdT AT gRT & BIfoY ?
x+3y=6; 2x-3y=12

Solve the following pair of linear equations by graphical method :
2x+y=6; 2x-3y=2

Or
Solve the following pair of linear equations by graphical method :
x+3y=6; 2x-3y=12

g dIve fb
1Jrs?nAzsecAﬁLtanA
1-sin A
J1RIdT
g ®IfSTe &
co§A +1+SmA:2secA
1+sinA  cosA
Prove that
1Jrs?nAzsecA-l—tanA
1-sin A
Or
Prove that
cos A +1+SmA:25ecA

1+sinA  cosA

10




23.

Frreafafea aroft ferst sreadra 5 Tk favr af # wdt gu AfmE w6t o1y =
T &—

3 (ot ) 5-15 15-25 | 25-35 | 35-45 |45-55 |55-65

T =Rt T 6 11 21 23 14 5

STYH ARSI F Tgerw AR HEA JIA HHC | 4
3rerar

Trfafa smremar se foadt deca & 68 SuTrmeT &t fostel &t
ATk WU ST © | 7 SAehs| o H1E7eh A Sgeih 1 it |

1T T (ShTSal o) YIRS Rt FEA
65 -85 4

85-105 5

105 -125 13

125 - 145 20

145 - 165 14

165 - 185 8

185 — 205 4
The following table shows the ages of the patients admitted in a hospital during a
year :
Age (in years) 5-15 15-25 | 25-35 | 35-45 |45-55 |55-65
No. of Patients 6 11 21 23 14 5
Find the mode and the mean of the data given above.

Or
The following frequency distribution gives the monthly consumption of electricity

of 68 consumers of a locality. Find the median, and mode of'the data.

Monthly Consumption Number of
(in units) Consumers
65— 85 4
85-105 5
105 -125 13
125 - 145 20
145 - 165 14
165 — 185 8
185205 4

11




